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Solve the following radical expressions: 
 

Match the column A and B correctly. 
 

 

A 

 

B 

1. 34 3 i) 485 

2. 38 ×410 ii) 63 

3. 3 ×52 iii) 108 

4. 62 ×92 iv) 56 

 

Solve  
 

5. (2 - 15) (2 + 15) 

 

6. 48 (3 + 12)  
 
 

7. What will be the product of  (46 - 4) and (46 + 4)  
 

8. Find the product of: 38 ×410 and 55 
  
9. What will be the result of: 15 205 203 
 
10.  Check whether the result of the product of the two radicals is 
true or not. 

2×3×43×53×63 = 2  3  4  5 6  3 
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